In the Matter of the Street Improvement Bistrict for the construction of curbings and paving of Milton Street from Main Street to the East line of Williams Street, in the City of Lebanon, Linn County, Oregon,

ORDINANCE BILL NO. 26
FOR 1950

ORDINANCE NO. 769

A BILL FOR AN ORDINANCE LEVYING AGAINST THE PROPERTY SPECIALLY BENEFITTED THEREBY, ASSESSMENTS FOR THE CONSTRUCTION OF CURBS AND THE PAVING OF MILTON STREET FROM MAIN STREET TO THE EAST LINE OF WILLIAMS STREET, AND DECLARING AN EMERGENCY:

MHERTAS, the owners of more than fifty (50) per cent of the property abutting upon the street improvement district above described, have filed with the City Recorder of the City of Lebanon, Oregon their petition asking for the improvement of said street, by the laying of pavement thereon and the construction of necessary curbs and said petition was accepted by the Common Council of the City of Lebanon and the City Engineer was ordered to prepare and file plans, specifications and estimates of the cost of said improvements, and

with the City Recorder of the City of Lebanon plans, specifications and estimates of the probable cost of said improvements, and the common council of the City of Lebanon by Resolution No. 9 passed on the 10th day of May, 1949 and approved by the Mayor, approved, ratified, and affirmed the said plans, specifications and probable costs and ordered the City Recorder to mause notice of intention to make said improvements to be published in the manner provided by the Charter of the City of Lebanon, and

WHEREAS, pursuant to the order of the City Council the City Recorder of the City of Lebanon, caused notice of intention to make said improvements to be published in the Lebanon Express, the official newspaper of the City of Lebanon, in the manner provided by the Charter of said City, proof of the publication of said notice now being on file herein, and the time for remonstrance having elapsed without any thereof having been made

CORRASABLE

against said improvement, and it then appearing unto the said Council that said improvement should be made, the said Council did by "rdinance No. 30 passed by the Council and approved by the Mayor on the 7th day of June, 1949, duly establish and declare its jurisdiction to make said improvements and ordered that the same be done by contract, to be awarded to the lowest responsible bidder and that the Recorder publish for ten (10) days a notice inviting proposals for the making of said street improvements, referring in said notice to the plans and specifications therefore filed in his office, and the time when said work shall be completed, and

whereas, the City Council did by said Ordinance order that the work be commenced not later than the 20th day of July, 1949 and be completed not later than and that it be done in the manner provided by the plans and specifications theretofore filed by the City Engineer, and approved by the Council and that the contractor be subject to the penalties and default for failure to complete said work in the manner, and within the time provided in his contract with the City, and that he shall indemnify the City by a bond in an appropriate amount with a suretry or sureties approved by the Council for faithful and prompt performance of his contract, and for the failure, payment of damages thereof in a sum or sums provided in said contract, and for the failure, payment of damages thereof in a sum or sums provided in said

WHEREAS, pursuant to said order the City Recorder caused to be published in the Lebanon Express "Notice Inviting Proposals for the Waking of said Street Improvements" in the manner required by the Ordinance and the Charter of the City of Lebanon, proof of the publication of said notice now being on file herein, and

WHEREAS, upon the expiration of the time required by the Charter for the submission of bids, the bids received by the City

Recorder for the making of said street improvements were opened, and submitted to the City Council, and Warren Northwest a responsible bidder having submitted the lowest bid, was awarded the contract for making said improvements.

whereas, the said work and improvement has been completed and approved, having been done in accordance with the harter and Urdinance of the said City of Lebanon, and the cost of said work and improvements has been determined.

NOW, THEREFORE, THE PEOPLE OF THE CITY OF LEBANON DO ORDAIN AS FOLLOWS:

Section I. That the cost of said work and improvement to be born by the property abutting upon and adjacent to the portion of Milton Street from Main Street to the East line of Williams Street together with the cost of the improvement of the district specified in Ordinance No. 25 is \$16,536.87.

Section II. That the proportionate share of said cost of said work and improvement to be borne by the real property especially benefitted thereby and to be assessed therefor is hereby declared to be the amount set immediately after the separate description of each lot or tract of land contained in the addendum marked Exhibit A and attached to this Ordinance and Ordinance No. 25 and by reference incorporated into and made a part of this ordinance and ordinance no. 26, and each of said lots or tracts of land id determined and declared to be benefitted by said improvement in the sum equal to or greater than the amount assessed thereto in said addendum; and each of said lots ar tracts of land should be, and the same hereby are assedsed for its proportionate share of the cost of said improvement in the sum set opposite the description thereof contained in the addendum.

Dection III. That the Recorder of the City of Lebanon be and she hereby is ordered and directed to enter immediately in the docket of City Liens of the City of Lebanon, a statement of each assessment made, declared and levied by this Crdinance, together with the names of the respective owners or reputed owners and the description of such lots and tracts of land hereinabove described, in the manner, as provided by the Charter; and to give notice forthwith to the owners of all of said property as to said assessments, in the manner provided by the Charter of the said City of Lebanon.

Section IV. That the said City of Lebanon having seriously depleted its funds, and this Ordinance therefore being required for the peace, health and safety of the said City, an amergency is hereby declared and said Trainance shall be in full force and effect immediately upon its passa e by the Council and approval by the Mayor.

Passed by the Council and approved by the Mayor this 4th day of April, 1950.

Me yor Market

ATTEST:

City Recorder

IMPROVEMENT PROJECT NO. 5

MILTON & WILLIAMS STREETS
STATE HIGHWAY CONTRACT NO. 3201

ASSESSMENT TO PROPERTY OWNERS

Paving-----\$12392.32

Curbs Constructed----- 4144.55

Total \$16536.87

ASSEMBLY OF GOD CHURCH P(56-245) Milton & Williams St. Improvement.

The South 53 ft. of Lots 9 & 10, Block 5, J. M. Ralstons 3rd Add.

Paving Curbs

52.75' frontage

93.78 Sq.Yds. 52.75 Lin.Ft. @1.50418 1.06118 Total

\$141:06 55.98 3197.04

Paid Balance

Bolinding

LOTTIE BARRE (130-565) Milton & Williams Streets Improvement.

Lots 2 & 3; except part to R.R. (136-530) in Block 4, Center Add.

Paving Curbs

105.37 frontage

187.32 Sq.Yds. 114.90 Lin.Ft. 21.50418 @1.06118 Total

\$281.76 121.93 \$403.69

Paid Balance

GEORGE & RUTH BARROWS (179-581) Milton & Williams St. Improvement.

The East 55 feet of an even width of Lot 2, Blk. 24, Wm. Ralstons Add.

Paving

551

frontage 85.56 Sq.Yds.

@1.50418 Total

\$128.70 \$128.70

Paid Balance

LOUIS W. & ERMA BEACH (163-260) T Milton & Williams St. Improvement.

The North & of Lots 1 & 2. Blk. 2. R. Hiatts Add:

Paving Curbs

79.4' frontage

141.15 Sq.Yds. 79.4 Lin Ft.

@1.50418 @1.06118

\$212.32 84.26

Total Paid Balance \$296.58

DAMA BLATCHLEY (150-329) Milton & Williams St. Improvement.

The South & of Lots 1 & 2, Blk. 2, R. Hiatts Add.

Paving Curbs

79.4' frontage

141.15 Sq.Yds. 79.4 Lin.Ft. @1.50418 @1.06118 \$212.32

Total Paid Balance

84.26 \$296.58

C. E. & R. G. BOWMAN (188-301) Milton & Williams St. Improvement.

Lot 14, Blk. 2, Center Addition.

Paving Curbs

55.78 frontage

99.56 Sq.Yds. 55.78 Lin.Ft.

@1.50418) @1.06118 Total

\$149.76 59.19 \$208.95

Paid

Balance

J. T. & ETHEL V. BROWN (149-82) Milton & Williams St. Improvement.

Beginning 660 feet East of the Northwest corner of Block 23, Wm. Ralston's Add.; thence South 264 feet; thence East 330 feet; thence North 264 feet; thence West 330 feet to the place of beginning.

Paving 105' frentage 163.33 Sq.Yds. @ 1.50418 \$245.68 Curbs 105 Lin.Ft. @ 1.06118 111.42 Tetal \$357.10 Paid Balance

WADE J. & DESSIE CANOY (203-59) Milton & Williams St. Improvement.

The North 70 feet of the South & of Lot 12, Block 2, Queen Anne Add.

Paving 70' frentage 108.89 Sq.Yds. @ 1.50418 \$163.79 Curbs 70 Lin.Ft. @ 1.06118 74.28 Total \$238.07 Paid Balance

DAVID M. & BEVERLY ANN COPELAND (203-626) Milton & Williams St. Improvement The North 109 feet of the North & of Lot 12, Block 2, Queen Anne Add; except the East 20 feet.

Paving 109' frentage 169.55 Sq.Yds. @ 1.50418 \$255.03 Curb 109 Lin.Ft. @ 1.06118 115.67 Tetal \$370.70 Paid Balance

ELTON J. & BLANCHE D. CRAIG (188-359) Milton & Williams St. Improvement.

Beginning on the West line of and North 11 feet from the Southwest cerner of Let 2, Blk. 24,; thence North 64.5 feet; thence East 130 feet; thence South 64.56 feet; thence West 130 feet to beginning.

Paving 80' frentage 124.44 Sq.Yds. @ 1.50418 \$187.18
Curb 60 Lin.Ft. @ 1.06118 63.67
Tetal \$250.85
Paid Balance

DALE W. & ELISABETH CURTIS (146-318) Milton & Williams St. Improvement.

Lots 3 & 4, Block 3, Center Addition.

Paving 107.4' frontage 190.93 Sq.Yds. @ 1.50418 \$287.19
Tetal \$287.19
Paid
Balance

J. C. Price

BADIE E. DART (174-539) Milton & Williams St. Improvement.

The South 2 of Let 12, Block 2, Queen Anne Add.; except any pertion previously deeded to the City of Lebanon.

Paving 129' frontage Curbs 200.66 Sq.Yds. 129 Lin.Ft. @ 1.50418 @ 1.06118 Tetal \$301.83 136.89 \$438.72

Paid Balance

O.J. & PEARL E. DOWNING (123-439) Milton & Williams St. Improvement.

Beginning 9.28 feet South and 174.5 feet East of the Northeast corner of Let 1, Block 23, Wm. Ralston Add.; thence South 120 feet; thence East 120 feet; thence North 120 feet; thence West 120 feet to the place of beg. Beginning 9.28 feet South and 294 feet East of the Northeast corner of Let 1, Blk. 23, Wm. Ralstons Add.; thence South 120 feet; thence East 35.5 feet; thence North to a point 35 feet East of the place of beginning; thence West 35.5 feet to the place of beginning.

Paving 155.5' frontage Curbs 241.89 Sq.Yds. 155.50 Lin.Ft.

@ 1.50418 @ 1.06118 Tetal Paid Balance \$363.85 165.01 \$528.86

PEARL L. EVANS P(54-530) Milton & Williams St. Improvement.

Let 1, Bleck 1, R. Histis' Add.

Paving 126' frontage Curbs

ge 224 Sq.Yds. 119 Lin.Ft.

@ 1.50418 @ 1.06118 Tetal \$336.94 126.28 \$463.22

Paid Balance

FLORENCE GARDNER (128-369) Milton & Williams St. Imprevement.

Beginning 107.5 ft. North of the Southeast corner of Let 5; thence North 60 feet; thence West 132 ft.; thence South 60 ft.; thence East 132 ft. to beginning & being the North 60 ft. of Lets 9 & 10 in Bl. 5, J. M. Ralstons Third Add.

Paving Curbs 59.72 frontage

106.17 Sq.Yds. 59.72 Lin.Ft. @ 1.50418 @ 1.06118 Tetal Paid

Balance

\$159.70 63.37 \$223.07

S. M. GARLAND (/03-4/ C) Milton & Williams St. Imprevement.

Beginning 660 ft. East of the Southeast corner of Blk. 24, Wm. Ralstons Add.; thence North 264 ft.; thence East 165 ft.; thence South 264 ft.; thence West 165 ft. to beginning.

Beginning 825 feet East of the Southeast corner of Blk. 24, Wm. Ralstons Add.; thence North 264 ft.; thence East 165 ft.; thence South 264 ft.; thence West 165 ft. to beginning.

Paving Curbs 89.85' frontage

139.77 Sq.Yds. 89.85 Lin.Ft.

@ 1.50418 @ 1.06118 Total \$210.24 95.35 \$305.59

Paid Balance VAN C. & NINA V. HASSLER (139-648) (189-831) Milton & Williams St. Improvement.

Beginning 114.5 ft. East of the Northeast corner of Let 1, Blk. 23; thence South 100 ft.; thence East 60 ft.; thence North 100 ft.; thence West 60 ft. to beginning.

Beginning 114.5 ft. East & 100 ft. South of the Northeast corner of Block 23; thence South 20 ft.; thence East 60 ft.; thence North 100 ft.; thence West 60 ft. to the place of beginning.

Paving 60' frontage 93.33 Sq.Yds. @ 1.50418 \$140.39
Curbs 60 Lin.Ft. @ 1.06118 63.67
Total \$204.06
Paid
Balance

C.P. & P.I. HASSLER (119-529) Milton & Williams St. Improvement.

Beginning at the Northeast corner of Lot 1, Blk. 23, Wm. Ralstons Add.; thence East 330 ft.; thence South 264 ft.; thence West 330 ft.; thence North 264 ft. to the place of beginning.

Paving 114.5' frontage 178.11 Sq.Yds. @ 1.50418 \$267.91 Curbs 114.50 Lin.Ft. @ 1.06118 121.51 Total Paid Balance

JOHN & GENEVIEVE HATFIELD (165-541) Milton & Williams St. Imprevement.

Beginning 880 ft. East of the Northwest corner of Blk. 23, Wm. Ralstons Add.; thence South 142 ft.; thence East 55 ft.; thence North 142 ft.; thence West 55 ft. to the place of beginning; Except (162-608) to City for street purposes.

Paving 55' frentage 85.56 Sq.Yds. @ 1.50418 \$128.70 Total Paid Balance

JOHN E. & NELLIE GRACE HATFIELD (201-732) Milton & Williams St. Improvement.

Beginning at a point 330 ft. East of the Southeast corner of Blk. 24; thence North 264 ft.; thence West 165 ft.; thence South 264 ft.; thence East 165 ft. to the place of beginning; except that portion deeded to City of Lebanon (162-399).

Paving 165' frentage 256.67 Sq.Yds. @ 1.50418 \$386.08 Curbs 165 Lin.Ft. @ 1.06118 175.09 Total Paid Balance

E. K. & ANNA S. HERMAN (185-895) Milton & Williams St. Imprevement. Let 9, Blk. 2, Center Add.

Paving 54.08 frontage 96.14 Sq.Yds. @ 1.50418 \$144.61 Curbs 58.90 Lin.Ft. @ 1.06118 62.50 Total Paid Balance

W.B. & DELLA V. HOLBROOK (160-219) Milton & Williams St. Improvement.

Lets 8 & 9, Blk. 1, Center Addition.

Paving 107.40 frontage 190.93 Sq.Yds. @ 1.50418 \$287.19
Curbs 107.40 Lin.Ft. @ 1.06118 113.97
Tetal Paid
Balance

CECIL M. & GOLDIE KING (199-519) Milton & Williams St. Improvement.

Lets 1 & 2, Blk. 3, Center Addition.

Paving 107.40 frontage 190.93 Sq.Yds. @ 1.50418 \$287.19
Total \$287.19
Paid
Balance

VERNON W. & BEULA I. LINDQUIST (203-109) Milton & Williams St. Improvement.

The South 60 ft. of the North 130 ft. of the South & of Lot 12, Blk. 2. Queen Anne Add.; except the East 20 ft.

Paving 60 frontage 93.33 Sq.Yds. @ 1.50418 \$140.39 Curbs 60 Lin.Pt. @ 1.06118 63.67 Total \$204.06 Paid Balance

C. H. LOESCHEN (191-393) Milton & Williams St. Improvement.

Lots 9 & 10, Except the North 65 ft. thereof.

Paving 92.5 frontage 164.98 Sq.Yds. @ 1.50418 \$248.16 Curbs 92.8 Lin.Ft. @ 1.06118 98.48 Total \$346.64 Paid Balance

J.W. & E.R. MILLER (164-439) Milton & Williams St. Improvement.

Lots 10 & 12, Blk. 2, Center Addition.

Paving 108.16' frentage 192.28 Sq.Yds. @ 1.50418 \$289.22 Curbs 108.16 Lin.Ft. @ 1.06118 114.78 Total Paid Balance

RALPH & GLENNA NICHOLS (174-133) Milton & Williams St. Improvement.

Beginning 660 ft. East of the Southeast corner of Let 2, Blk. 23, Wm. Ralsten's Add.; thence North 264 ft.; thence East 135 ft., more or less to the West boundary of the right of way of the O.E.R.R.; thence South along said right of way line 264 ft. more or less to a point due East of the place of beginning; thence West 135 ft. to the place of beg.

Paving 129.85' frontage 201.99 Sq.Yds. @ 1.50418 \$303.83 Curbs 129.85 Lin.Ft. @ 1.06118 137.79 Total Paid Balance

M.B. NICHOLS (Assessers) Milton & Williams St. Imprevement.

West 204 ft. of Let 1, Blk. 23, Wm. Ralston's Add., except part sold to City (162-397) (162-629) (198-7).

Paving 154 frentage 267.55 Sq.Yds. @ 1.50418 \$402.44 Curbs 152 Lin.Ft. @ 1.06118 161.30 Total Paid Balance

OREGON ELECTRIC R.R. (136-573) Milton & Williams St. Improvement.

Beginning North 20 ft. & East 677.5 ft. of the Northeast corner of Blk. 26, Wm. Ralstons Add.; thence East 193 ft. thence North 225.2 ft.; thence West103 ft.; thence South 225.2 ft. to the place of beginning. A strip of land 60 feet in width, being 30 feet on each side of and

A strip of land 60 feet in width, being 30 feet on each side of and parallel with the center line survey of the O.E.R.R. as located across (103-172) and (103-416), the center line being described as follows:

Beginning at a point on the North line of the first tract of land aforesaid and from which point the Northwest cerner of said tract bears West

159 ft.; thence S.0° 12'E. 264 ft. to a point on the South line of the tract of land aforesaid and from which point the Southeast corner of the William Ralston D.L.C. No. 48 bears S.0° 12'E. 568 ft. and thence S.89° 52'E. 649.1 feet to said corner; said point also being East 160.3 ft. of the Southwest corner of the tract of land aforesaid; the tract conveyed containing 0.36 acre, more or less.

225.58' frontage @ 1.50418 Paving 401.03 Sq.Yds. \$ 603.22 Paying 253.51' frontage 394.36 Sq.Yds. @ 1.50418 593.19 209.5 Lin.Ft. 222.32 Curbs @ 1.06118 \$1418.73 Tetal Paid Balance

O. & C. R.R. Southern Parific Williams St. Improvement.

Right of Way

Paving 200' frentage 355.56 Sq.Yds. @ 1.50418 \$534.83 Total Paid

Balance

FRED J. & MARJORIE D. FENFOLD (206-834) Milton & Williams St. Improvement.

The North 50 ft. of the South 150 ft. of the North 2 of Lot 12, in Bl. 2, Queen Anne Add., Except the East 20 ft.

Paving 50' frontage 77.78 Sq.Yds. @ 1.50418 \$117.00 Curbs 50 Lin.Ft. @ 1.06118 53.06 Total Paid Balance

GRORGE & CLEO PETERSON (200-108) Milton & Williams St. Improvement.

Beginning in the North line of Milton St. (if widened) 130 ft. East of the West line of Lot 2, Blk. 24; thence North 121 ft. more or less, to the North line of Lot 2; thence East along the North line of said lot 60 ft.; thence South to the North line of Milton St.; thence West along said North line 60 ft., more or less to beginning.

Paving 60' frontage 93.33 Sq.Yds. \$1.50418 \$140.39 Curbs 60 Lin.Ft. \$1.06118 63.67 Total Paid Balance

EUGENE W. FOWERS (120-19)(125-400) Milton & Williams St. Improvement.

Beginning at the Southeast corner of Blk. 24, Wm. Ralstons Add.; thence North 416 ft.; thence East 330 ft.; thence South 152 ft.; thence West 165 ft.; thence South 264 ft.; thence West 165 ft. to beginning.

Paving 165' frontage 256.67 Sq.Yds. 2 1.50418 \$386.08 Curbs 102 Lin.Ft. 2 1.06118 108.24 Total Paid Balance

JOHN L. & ESTELLA L. RAY (147-588) Milton & Williams St. Improvement.

Lots 1 & 2, Block 24, Wm. Ralston Add.

ELMER E. & MAY D. RECESTER (159-230) Milton & Williams St. Improvement.

Beginning 112 ft. North of the Southeast corner of Lot 10, Blk. 4; thence South 112 ft. to the Southeast corner of said Lot; thence West 163 ft.; thence Northeasterly along the Lebanon-Santiam Canal to the place of beginning, being parts of Lots 8, 9, & 10.

Paving 112' frontage 199.10 Sq.Yds. 3 1.50418 \$299.48
Curbs 88.90 Lin.Ft. 3 1.06118 94.34
Total 7393.82
Paid Balance

ELMER E. & MAY D. RECESTER (138-486) Milton & Williams St. Improvement.

Beginning at the Northeast corner of Blk. 5; thence South 56.67 ft.; thence West to the West line of Blk. 5; thence North 56.67 ft. to the Northwest corner of said Blk.; thence East to the place of beginning; subject to the right of way of the Canal.

Paving 56.40' frontage 100.27 Sq.Yds. @ 1.50418 \$150.82 Total Paid Ralance

STANLEY & ADELINE ROUS (187-15) Milton & Williams St. Improvement.

Lot 13, Blk. 2, Center Add.

Paving 54.08' frontage 96.14 Sq.Yds. 0 1.50418 \$144.61 Curbs 54.08 Lin.Ft. 0 1.06118 57.39 Total Paid Balance

RALPH & EMMA RUST (163-596) Milton & Williams St. Improvement.

Beginning 825 ft. East of the Northwest corner of Blk. 23, Wm. Ralstons Add.; thence South 264 ft.; thence East 165 ft.; thence North 122 ft.; thence West 110 ft.; thence North 142 ft.; thence West 55 ft. to the place of beginning, Except a strip off the North side conveyed to City.

Paving 55' frontage 85.56 Sq.Yds. @ 1.50418 \$128.70 Total Paid Balance

RALPH & GRACE SCROGGIN (187-821) Milton & Williams St. Improvement.

Lot 11, Blk. 2, Center Add.

Paving 54.08' frontage 96.14 Sq.Yds. 2 1.50418 \$144.61 \$7.39 Total Paid Balance

W.A. & JEAN SHORT (206-812) Milton & Williams St. Improvement.

Beginning 330 ft. Hast and 10.70 ft. North of the Southeast corner of Lot 2, Blk. 24, Wm. Ralstons Add.; thence North 121.30 ft.; thence Hast 72 ft.; thence South to the North line of Milton Street; thence West 72 ft. to the place of beginning.

Paving 64' frontage 99.56 Sq.Yds. @ 1.50418 \$149.76 Curbs 64 Lin.Ft. @ 1.06118 67.92 Total Paid Balance

E.C. & LENA SOMMERS (183-267) Milton & Williams St. Improvement.

The West 57 ft. of Lots 6 & 7, Blk. 1, Center Add.

107.40' frontage Paving Curbs

190.93 Sq.Yds. 107.40 Lin.Ft. @ 1.50418 @ 1.06118 Total

\$287.19 113.97 401.16

Paid Balance

Davenport (162-144) Milton & Williams St. Improvement. MARGUERITE STRYKER

Beginning at the Northwest corner of Lot 10, Blk. 2, Hiatts Add.; thence South 66 ft.; thence East to the East line of Lot 9, thence North 66 ft.; thence West to beginning.

66' frontage Paving Curbs

117.33 Sq.Yds. 66 Lin.Ft. @ 1.50418 @ 1.06118

\$176.49 70.04 \$246.53

Total Paid

Balance

DAN STURGIS (206-846) Milton & Williams St. Improvement.

Beginning 660 ft. East of the Northwest corner of Blk. 23, Wm. Ralstons Add.; thence South 142 ft.; thence East 60 ft.; thence North 142 ft.; thence West 60 ft. to the place of beginning. Except portion deeded to the City.

Paving Curbs

60' frontage

93.33 Sq.Yds. Lin.Ft. 60

@ 1.50418 @ 1.06118 Total

\$140.39 63.67 \$204.06

Paid Balance

JOHN & ELLA S. SUMMERS (144-488) Milton & Williams St. Improvement.

Beginning at the Southwest corner of Lot 5, Block 5; thence North 55.67 ft.; thence East 330 ft.; thence South 55.67 ft.; thence West 330 ft. to beginning. Also, Beginning 55.83 South of the Northeast corner of Block 5; thence West 330 ft.; thence South 55.83 ft.; thence East 330 ft. thence North to beginning.

(207-747) Part of Lots 9 & 10: Beginning on the East line of Lot 10, 53.5 ft. North of the Southeast corner of said Blk.; thence North 54 ft.; thence West 132 ft. to the West line of Lot 9; thence South 54 ft.; thence East 132 ft. to the place of beginning; being the North 54 ft. of the South 107.5 ft. of Lots 9 & 10.

Paving 164.73' frontage Curbs

292.85 Sq.Yds. 164.73 Lin.Ft.

@ 1.50418 @ 1.06118 Total

\$440.50 174.81 \$615.31

Paid Balance FRED & ALMA TRABONT (174-5) Milton & Williams St. Improvement.

The East 66 ft. of Lot 1, Blk. 23, Wm. Ralstons Add.

Paving Curbs

661 frontage

102.67 Sq.Yds. 66 Lin.Ft.

@ 1.50418 @ 1.06118

\$154.43 70.04 1224.47

Total Paid Balance

AMOS C. & ALTA L. WELLS (163-640) Milton & Williams St. Improvement.

The North & of Lot 12. Blk. 2. Queen Anne Add.: Except the East 20 ft.

Paving Curbs

100' frontage

155.56 Sq.Yds. 100 Lin.Ft. @ 1.50418 @ 1.06118

\$233.99 106.12 \$340.11

Total Paid

Balance

HARVEY A. & ZELMA WIGHT (169-901) Milton & Williams St. Improvement.

Beginning 660 ft. East & 10.55 ft. North of the Southeast corner of Lot 2, Bl. 24, Wm. Ralston Add.; thence North 253.43 ft.; thence West 198 ft.; thence South 253.36 ft.; thence East 198 ft. to beginning.

Paving Curbs

206' frontage

320.44 Sq.Yds. 206 Lin.Ft.

@ 1.50418 @ 1.06118

\$482.00 218.60

Total Paid Balance 700.60

Uma Fitzgerald HARVEY & ZELMA WIGHT (169-407) Milton & Williams St. Improvement.

Beginning 66 ft. West of the Northeast corner of Lot 1, Bl. 23, Wm. Ralstons Add.; thence West 60 ft.; thence South 122 ft.; thence East 60 ft.; thence North 122 ft. to beginning.

Paving Curbs

60' frontage

93.33 Sq.Yds. 60 Lin.Ft.

@ 1.50418 @ 1.06118

\$140.39 63.67

Total Paid Balance \$204.06

LLOYD & MAXINE YATES (154-24) Milton & Williams St. Improvement.

Beginning 990 ft. East of the Northwest corner of Blk. 23, Wm. Ralstons Add.; thence South 142 ft.; thence West 55 ft.; thence North 142 ft.; thence East 55 ft. to the beginning.

Paving 55' frontage

85.56 Sq.Yds.

@ 1.50418

\$128.70 \$128,70

Total Paid

Balance

IMPROVEMENT PROJECT NO. 5

1949

MILTON & WILLIAMS STREETS

STATE HIGHWAY CONTRACT NO. 3201

Item	Quantities	Unit	Unit Price	Cost
Excavation	3884.66	Cu.Yds.	\$.87108	\$ 3383.85
Curb Constructed	76.40 4463.08	Lin.Ft.	1.06118	26.62 4736.14
Walk Removed Walk Constructed	35.12 28.90	Sq.Yds. Sq.Yds.	.69691 2.09052	24.48
Paving	11310.31	Sq.Yds.	1.50418	17012.82
			Project Tota	1 \$25244.33

Charged to Property Owners

Item	Quantities	Unit	Unit Price	Cost
Curb Constructed Paving	3905.60 8238.56	Lin.Ft. Sq.Yds.	\$1.06118 1.50418	\$ 4144.55 12392.32
			Tota	1 \$16536.87

Charged to City

Item	Quantities	Unit	Unit Price	Cost
Excavation	3884.66	Cu.Yds.	\$.87108	\$ 3383.85
Curb Removed	76.40	Lin.Ft.	.34842	26.62
Curb Constructed Walk Removed	557.48 35.12	Lin.Ft.	1.06118	591.59 24.48
Walk Constructed	28.90	Sq.Yds. Sq.Yds.	2.09052	60.42
Paving	3071.75	Sq.Yds.	1.50418	4620.50

Total \$ 8707.46

Project Total \$25244.33

STATEMENT OF FINAL COSTS

1950

MILTON & WILLIAMS STREETS

STATE HIGHWAY CONTRACT NO. 3201

Contract Items	Quantity Unit Price	Cost
1. Removal of Walks 2. Removal of Curbs 3. General Excavation 4. Concrete Curbs 5. Concrete Walks 6. 3"-0" Material in Subbase 7. 2"-0" Material in Base 8. 3/4"-0 Material in Base 9. Sprinkling 10. Class "B" Asph. Conc. for Patching		\$ 35.12 38.20 4855.83 6796.35 86.70 2826.00 1920.00 2070.00 147.60 380.97
11. Class "B" Asph. Conc. Construction Engineering Survey Computing Costs & Fractional Ca	2275.82 Tons 7.50	\$36225.42 2522.57 1492.57 3.77
Total Less Agreed State Share	Total	\$40244.33 15000.00 \$25244.33
Assessment to Private Prop. Assessment to City	Total	\$17155.67 \$17155.66 8787.41 \$25244.33